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General Instructions :

1.  There are 31 questions in all.
2. Marks for each question are indicated against it.
3. All questions are compulsory.
4 Write the same question number as given in the question paper while answering the
question in your answer book.
5. (i) Answer to MCQs of 1 mark should be out of (a), (b), (c) or (d) only.
(i) Answer to each question of 3 marks should not exceed 60 words.
(iii) Answer to each question of 5 marks should not exceed 120 words.
6.  Both the Maps should be attached inside the answer book.
= frder
. 39T 9T H FA 31 WA 2
2. T WA % 3 3H% 9 A T E
3. wsft yeA erfemd @)
4. T I gRaeR ° IW faed ava g o fen oy g fa
5. (i) 1 % & ag-defeus Y & SW (a), (b), (c) @@l (d) ¥ ¥ & '8F
IR
(ii) 3 3l & YAF YT 1 ST 60 ¥R & 3Afees Fel g e
(iii) 5 3l & T&FH YT H IW 120 ¥l ¥ A 7T BT =R
6. THI OHfes U IR YRaeht & iR o shifeu|
1.  Which one of the following countries has the highest percentage of pasture land? 1

(@) Australia (b) India
(c) Japan (d) UK
frefafed & @ fog <o & =R i =1 gfawa Haifas 22
(a) siefeman (b) 9Rd
(c) SmHE (d) g
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2. Which one of the following techniques of soil conservation is the most suitable
for desert areas?
(@) Crop rotation (b)  Strip cropping

(c) Shelter Belts (d) Terrace farming
frefarfied ge1 SerT qeiehl o W i | dehdieh Aol el & ferg arfa
ST @7

(a) O =h (b) ULRR il

(c) wa e (d) wefigm et

3. Which one of the following is NOT the characteristics of trees found in

Mediterranean forests?

(@) Spiny, waxy and small leaves (b) long roots

(c) Thick bark (d) Broad leaves

frefafed § @ A faemar querarE o+ & geif & 7 O S
(a) IR, W 3R B ufwar (b) & W

(c) el B (d) = w
4.  Fir, Oak and Spruce trees are commonly found in which type of forests?
(@) Coniferous forests (b) Mediterranean forests
(c) Tropical deciduous forests (d) Evergreen forests
T, 31k 991 SRR WHEIG: fhd YR & o9 § 9 39 &7
(a) RN a4 (b) YHLHERRA o4
(c) IWkicad™ a1 (d) HSEerR 9=
5. Where is 'Gandhi Samriti' located in Delhi?
(@) Near Shakti Sathal (b) Near Shantivan
(c) Near Vijay Ghat (d) Near Raj Ghat
‘el wyfa’ feeeht o el from @2
(a) ¥feR Tord & fiehe (b) wmf<red & feke
(¢) fosreme & fishe (d) s & fehe

6. Bal Gangadhar Tilak founded which newspaper?
(@) The Times of India (b) The Hindu
(c) Kesari (d) Amrit Bazar Patrika
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10.

I TMeR faoter 7 fve YHRR 939 ki TM9AT1 1?2

(a) 2EHE A% e (b) = f&g
(¢) &l (d) T9d SR Ufe

If you are interested in visiting "Victoria Terminus" which city would you like to
visit as a tourist?

(@) Bombay (Mumbai) (b) Calcutta (Kolkatta)

(c) Lucknow (d) Madras (Chennai)

Ifg e ‘faeRiften <fife’ e & =@ €, 9 oMU I U Ydew & w9 o
ford TR hl AT HEAT B2

(a) o= (GHIE) (b) ekl (hICTRTT)

(c) @ETs (d) w5/ (3=%)

Identify the chairman of the Drafting committee of the Constitution of India?

(@) Dr. Rajendra Prasad (b) Dr. B.R. Ambedkar
(c) Dr.S. Radhakrishnan (d) Jawharlal Nehru
9RA o WO 1 GEY WHAG % AL hl TEEH Ty
(a) Sl TS= FE (b) Sl SLAR. IS
(¢) Sl TH. TUHwH (d) AR ol H8%
Which one of the following is considered residuary subject?

(@) Information technology (b) Labour Welfare

(c) Public Health (d) Railways
frafafed & @ s fowa eafire fawm 7 S 22

(a) T HreifTeR! (b) & e

(c) SH-TEmEes (d) Yo

The process of impeachment to remove the President of India is carried out by
which Institution?

(@) the Supreme Court of India (b) the Rajya Sabha

(c) both the Houses of Parliament (d) the Lok Sabha only

IRd & UeUfd &l geH & fau "eifaEm o gfean foe geen g 9ud
RS il

(a) YRA 1 Gared = (b) T[T G

(c) HUE & I T (d) &aa & gl
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11.

12.

13.

14.

15.

16.

17.

18.

"Resources are essential for development but merely their presence does not
guarantee development". Justify the statement by giving the examples of the U.S.
and India both.

‘garer faem & fau stavasw ® W dad S e, fasm s ghafyea
TE a1l IH ToF ST 991 IR & A0 g 9 HUd Sl AT

SelgU|

Why is Topography considered to be an important factors affecting the formation
of s0il? Explain.

‘TIATHA B I HI G H Tk AU wRSE A G W 21T
TS|

How far is it correct to say that temperature and rainfall are two very important
factors for the growth of plante?

T HEA HEl d% Irad ¢ ok aHE T oui gl % faee % faw g st
TEwqUl R B2

Explain any three points of distinction between Tropical Evergreen and Tropical
Deciduous Forests.

SoTehfesea Teefa i SwEhfesia ol o § faw & fehwel i faget
! T HITT|

How did the East India company get benefitted by setting up trading posts in Surat
and three Presidency settlements at Bengal. Madras and Bombay?

A qAN ST, ARG IR TS b YHSH e o A+ wonfud s o

[ e s+ N~ o
s sfear &uAl fopd YR arrford g3?

Highlight the injustices meted out to the Indian farmers during the British rule?

fafest o9 & SRM 9RdE fRaml @ @i ffT U 3=l @ ISR i

At the time of the Revolt of 1857, who was proclaimed as the Shahenshah-e-

Hindustan and why? Explain the circumstances that forced this proclaimation.

1857 & Tosie & @9a fore o1 we-mme-u-fecia =it feran e iR =412 =9
oo & fou foaw @ gt aikfeufasl =t e sifs)

"Preamble of the Indian Constitution is known as the Soul of the Indian constitution."

Give any three suitable arguments to support this statement.

‘T HfU Sl EdTeA Sl IRA SaHE S STeH T S 217 39 R
% FHYA W HIE o SUFE qoh AUTSUl
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19.

20.

21.

22.

23.

24.

25.

Why is it said that India has a federal system but with a difference? Explain. ~ 1%2+1V2=3
o = el Wil @ for wRa W weieqen oo Bid U W U8 D e W €2
T HifS)

Mention the three organs of the Union Government of India and their

composition. 3x1=3
TR i G TWHR & 1 3T k1 ool HITST T 3Tkt G fAf@u)

In what three ways is Lok Sabha more powerful as compared to the Rajya Sabha?  3x1=3

Alhae ford 9 IR @ ToF | 1 qort o eAfus wifdenet €2

Why is there an urgent need of resource planning and conservation towards
sustainability? Suggest some measures through which you can contribute in this
direction on? 3+2=5
Taq qror i fewn ¥ gorer freee ud e = eifq srevas 22 39 ged

H IO AFEH YSH & 3G HS ST AU

Why are the sources of water becoming limited every year? Suggest any three

ways to conserve water? 2+3=5

S % Wid B oy i difid g ST W@ 82 S SR % i o i
REUEY

OR (3¥4d1)

What is meant by soil erosion? Suggest any four measures to check erosion and

conserve soil. 1+4=5

T AT W 1 AT 8?7 YT WA i Uk q1 SHb HL&I0T & Ty s
IR I G

What is the importance of Battle of Baxur in Indian history? What were the reasons

that led to this battle? How did it benefit the Britishers? 1+3+1=5
IRATT Sfe™ § 9 & g5 %1 F Hew 87 TR &1 5 T SR 9 gaT?

IE J§ Ul & U fhe TR Ar9gEs on?

Differentiate between Ryotwari system and Mahalwari system. Why did Mahalwari

system prove to be a cursl for the peasants? 2+3=5

IAAET YUt 3R HeTare! Yolell H 3= T2 HifST| Heaars! Jorel feremi
& faq sifywemy w=i g ge?
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26. What steps should have taken by the Indians to ensure the success of the first war
of Independence? Explain. 5
1857 o e WA AW H WHA N % AU AR g BHE-HE § HEH

3™ SH el 972

OR (34491)

In your opinion, how far was the economic exploitation of the Indians responsible

for the outbreak of the Revolt of 1857? Explain. 5
s faam o, 1857 & fosie =i yEeta & fou, wrdial =1 enfefs wioor el
s ST 1?2

27. What are Fundamental Duties? When were they incorporated in the Indian
constitution? Mention any three Fundamental Duties which promote nationalism
and patriotism. 1+1+3=5
Hifelehr shded o1 87 3% 9RAE iU § e Gifed feren wen? usEan
del YAl 1 el i UicEed 3 ol fR=l dF THE wdeAl ol 3o

Hifeq|

28. What is meant by 'secularism'? What is the main purpose behind adding the

word 'secular' in the Preamble of the Indian constitution? 2+3=5
e derr § s ity 27 ‘uwfuer’ veg Wi Hiaw st gEdme § e
FH & 1D 1 eI Sy 7?2

29. Explain any two methods being adopted by the Parliament of India to exercise
control over the Union executives. Which method according to you is more effective
and why? 4+1=5
GG et W EE0 W & fiu YR WEE g AR e fRRl
faferll &1 =men SISy e FTER S fafy sifyes gwEsd € 3R
ERIF

OR (34d91)

How is Rajya Sabha constituted? Why is Rajya Sabha called a permanent House?  3+2=5
T |1 H1 T fHT YHR a1 €7 T T H1 TR T i kel S €7
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30. (i) Two features A and B are shown in the given political outline map of India.
Identify these features with the help of following information and
write their correct names on the lines marked on the map.

(A) The place which was the epicentre of the Revolt of 1857.
(B) The Place to which the Sindia belonged.
(ii) Onthe same political map of India locate and label the following place :
(C) The place to which the Mundas belonged : Chattisgarh. 2+1=3
(i) 9Rd % XU T @ gHfes T T A0 A qe1 BT ¢ R | A= < W ge
& SR T, I2 YgA1d d2 37 Tl =™ < 718 st R fafed -
(A) T8 TIF S 1857 & Taxig &1 &=xfeg ol
(B) =& T fo@ § ‘fefermn’ defua o
(ii) feu T so gAfas W feafafea o ifea wifsiw 9en 9t I\ ot
ferfen-
(C) g% TIM &l quel Wd 9 : SEe

For visually impaired students in lieu of Q. No. 30

U, ©. 30 & M W gheartua faamfda & fau denfeus gom

(A) The Khasis belonged to which region of India?

(B) From where did Rani Laxmi Bai led the Revolt of 1857?

(C) Nana Saheb led the revolt from which city? 3x1=3
(A) O e & ol 9Rd & A 9 & 9 Fafud 9?2

(B) Tt @ieHiaTg 7 1857 & Tasie &1 =g *el 9 fohan?

(C) =1 wifed A faxig &1 g fovd TR o fohan?

31. (i) Two features A and B are shown in the political outline map of the world.
Identify these features with the help of the following information and write
their correct names on the lines marked on the map.

(A) An Area of low rainfall in Africa

(B) A type of forest
(ii) On the same political map of the world locate and label the following items

with appropriate symbols.

(C) An Area of high rainfall in south America

(D) One region of Temperate Softwood forest in North America. 2+2=4
(i) TUR & @1 AAfIT R I A0 A 991 BN T & A= T g &

HER W IR AL qe1 396 WEl W & W et W fafem)

(A) ST 1 HH IO ol &

(B) ol 1 T YN
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o

(i) fSu 7T 3 "Ml W H=fafea @& ot 39 fasl g/ ifeha sifse
qgn 39 1 fafem)
(C) 3faror emfient 1 S1frsh ool aren &,
(D) ST 3l | YRER a7 el Y|

Alternative question for visually impaired students in lieu of Q. No. 31

U E. 31 & M W gheartua faenfda & fau denfeue wom

31.1. Name any one area of low rainfall in the northern part of Africa.

31.2. Name any one area of high rainfall in Asia.

31.3. Name any two trees commonly found in coniferous forests.

31.4. Name any two trees commonly found in Tropical rain forests. 4x1=4

31.1. 3T 3THIAT & THEl Tk &Y 99 ol & 1 99 fafeu)

31.2. TN & fRdt ww sifuss ot et & w1 AW fafeu)

31.3. TRER o | W U S ol TRl & gai & T fafem

31.4. 39 Hicae 9o o= § G WC WH o TRl S gei & A
farfem)
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Roll No. (3THIeh) India-Political (¥RA-TsT-feh)
Map for Question No. 30 [9.8. 30 & fau AMf=]
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Roll No. (3THIeh) World-Political (FHR-TsT-feh)
Map for Question No. 31 [9.8. 31 & fau AMf=]
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